Npoo8eon kal agalpeon aptSluwy expl to 20
N~ (Xpnoiorolw ™V apLOoyPajun)

N

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

18 - 8 = _ 12 + 8 = _
8 -+ = 12 +F = _
18 - 6 = ___ 122 + 6 =
18 - 5 = 12 + 5 =
18 - 4 = _ 12 + 4 = _
18 - 3 = 122 + 3 =
18 - 2 = 12 + 2 =

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

1+ - 2 = 10 + 3 =
6 - 3 = ___ 10 + 4 = _
5 - 4 = _ 10 + &5 = _
14 - 5 = ___ 10 + 6 = _
3 -6 = 10 + + = _
2 - F = 10 + 8 = __
1 - 8 = 10 + 9 =
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Npoo8eon kal agalpeon aptSluwy expl to 20
N~ (Xpnoiorolw ™V apLOoyPajun)

N

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

199 - Q2 = M1 + 3 =
9 - 3 = __ M1+ 4 = _
19 - 4 = 1 + 5 =
19 - 53 = 1 + 6 =
9 - 6 = __ M+ + = _
9 - + = __ 1 + 8 =
19 - 8 = 1 + 9 =

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

18 - 2 = _ 9 + 3 =
1+ - 3 = ___ 29 + 4 = __
16 - 4 = 9 + 5 =
15 - 5 = 9 +6 =
14 - 6 = ___ 9 + F = _
3 -F = 9 + 8 = __
122 - 8 = 9 + 9 =

http://blogs.sch.gr/ataxiablog/



Npoo8eon kal agalpeon aptSluwy expl to 20
N~ (Xpnoiorolw ™V apLOoyPajun)

N

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

20 - 9 = _ 9 + 8 = _
20 - 8 = 8 + + =
20 -+ = __ + + 6 = ___
20 - 6 = _ 6 + & = _
20 - &5 = S + 4 =
20 - 4 = _ 4 + 3 = _
20 - 3 = 3 + 2 =

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

1+ - 2 = 8 + 3 = _
1+ - 3 = ___ 8 + 4 = _
1% - 4 = 8 + 5 =
1%+ - &5 = ___ 8 + 6 = _
1+ - 6 = _ 8 ++ = _
i+ - F = 8 + 8 = __
19 - 8 = 8 + 9 =

http://blogs.sch.gr/ataxiablog/



Npoo8eon kal agalpeon aptSluwy expl to 20
N~ (Xpnoiorolw ™V apLOoyPajun)

N

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

6 - 9 = _ 9 + 9 = __
6 - 8 = _ 8 + 8 = _
%6 -+ = + ++ = __
6 - 6 = __ 6 +6 = __
6 - 5 = 5 +5 =
6 - 4 = 4 + 4 =
16 - 3 = 3 + 3 =

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

15 - 2 = 1 + 3 =
15 - 3 = A+ 4 =
5 - 4 = _ 3 + 8 = __
5 - 5 = 4 + 6 = __
15 - 6 = S + + =
5 - F = & + 8 = __
15 - 8 = T + 9 =

http://blogs.sch.gr/ataxiablog/



Npoo8eon kal agalpeon aptSluwy expl to 20
N~ (Xpnoiorolw ™V apLOoyPajun)

N

1 2 3 4 S e + 8 9 | 10

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

14 - 9 = 9 + 3 =
14 - 8 = ___ 8 + 4 = _
4 -F = + + 5 = __
4 - 6 = __ 6 +6 = __
14 - 5 = ___ 5 ++ = __
14 - 4 = 4 + 8 = _
14 - 3 = 3 + 9 =

11 |12 | 13|14 |15 |16 |1+ |18 | 19 | 20

10 - 2 = ___ 8 + 3 = _
10 - 3 = ___ + + 4 = __
0 - 4 = 6 + 5 =
0 - 5 = 5 +6 = __
0 - 6 = 4 + + =
10 - + = 3 +8 = __
10 - 8 = 2L + 9 =

http://blogs.sch.gr/ataxiablog/



